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AfolER [=R=] Metd = oAl etsAM1d 118Hs) stE 40,000 50,000 40,000 50,000 H=glg | HE8lS
ME oI =1 Mt e oAl AT 2 235-11(A2 ) AT E 50,000 60,000 50,000 60,000 H=8ls | s
g5 2 24 Hetd e oAl A3 35Es) stE 70,000 100,000 70,000 100,000| HEgS | B82S
SHRF 2 Hetd: oAl A EE22 16(95) & 130,000 170,000 130,000 170,000| H&QUS | HEUS
WA SH o MEtd s oAl A|&3Z 35-6(5H5) IR 70,000 100,000 70,000 100,000| &S | HEUAS
N = L= Meted e oAl AH3Z 35-6(345) stE 70,000 100,000 70,000 100,000 HEglEg | HEBlE
= HOkX} 2 HeEtd e oAl A[EE32E 13(83) ElE= 80,000 90,000 80,000 90,000 H=8S | HE2US
OHSHE R Hetd e oAl A ES3Z 12-15(%8) gE 55,000 60,000 55,000 60,000 HEUS | HSAS
A == Mt e oAl Al E2Z 22-1(35) IR 70,000 100,000 70,000 100,000| HEUS | HE8US
22 QM oEl MEIL T O$A| ASE 231(ABE) E=R= 50,000 60,000 50,000 60,000 H=82 | HEUS
MY oE Mg e of$=A| StE M1 13(85) RS 50,000 50,000 50,000 50,000 HEQUS | HEAUS
AdI=sH 2 Hetde oAl A8 &322 33(%5) stE 45,000 60,000 45,000 60,000 H=8la | Hads
oezg oY HMEtE e oAl A|IHS2Z 36(2H3) IS 40,000 40,000 40,000 40,000 HEglE | HE8E
Ao [=R=] Mt s of=A| AR3Z 35-14(3t5) ElE= 70,000 80,000 70,000 80,000 H=8Z | HEUS
LI2AF S S E oh=] Metd e oAl AIHAM6Z 3 (85) ElE= 80,000 150,000 80,000 110,000 HEAUS
H|L[7|OF= & O] == oH Hetd e oAl A[EM6ZE 19 (&h3) Bl 97,000 150,000 97,000 117,000 HEAUAS
oj =9 0| E = & o Matd= oAl A[HE32 30-7 (8H8) Bl 50,000 80,000 50,000 60,000| H=8la
Of =3l H| x| = & =l Metd s oAl AIE M6 5 (8Ha) stE 60,000 90,000 60,000 100,000, HE U=
SIS A S E == Mt s oAl AIHM6Z 11 (85) IR 60,000 80,000 60,000 80,000| HEQS SAS
AMORT = & S | MEIHE oAl AIHA6Z 23 (BHE) BES 70,000[ 190,000 80,000 140,000  2l&t
Lid| &= = =9 (HEtHE oAl A|ES3Z 35-12 &5 50000 50000 50,000 50,000] HEQS
ZHCH2 2E  |MetEE oAl S44EHT7E 11-20 BME 70000 90000 70,000 90,000/ HESlS
K| @ BH s E SE Metd e oAl AlHM6Z 13(8HS) ElE= 60,000 70,000 60,000 70,000, HESS
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goold o Metd s oj$A| 22 48-7(2FE) 25 45,000 130,000 60,000 120,000  Ql4 ol
M 2d MEtHd e oAl SF4Z 5(53F3) R 50,000 70,000 50,000 70,000, H=s2S | HEYUS
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ZHEALE E 2 Metgd e oAl 3R1Z 36(3F3) d2s 40,000 50,000 40,000 50,000 H=gl2 | HE8US
2 HO|H E2tal =H Metgde oAl BYE 2085 S) SRS 180,000 180,000 180,000 180,000| HE2US | HEUS
o2 QEY =4 Meted e oAl 2222 99(H58) HE5s 220,000 240,000 120,000 220,000  Qlst oI5
I HAN FEtd e oAl L2 33(H53) HEE 150,000 220,000 80,000 150,000 QIs oI5
iz AH o Metgde oAl BAE 4055 S) SRS 80,000 150,000 80,000 150,000| HEeUS | B82S
ot2|Otz A ™ A HEtd e oAl BLE 185(H53) H&5s 290,000 290,000 190,000 210,000 oI5t oIS
HiCHZ & 2E MEter oA BYE 213(H5S) 855 40,000 60,000 30,000 30,000 ¢ls oI
=i 3z oY MeEtdE oAl LEER 7538 8) +8s 50,000 70,000 50,000 70,000 HE2US | HE8US
HSEHE = =4 HMEtHE oAl LEEE 7458 S) =85 100,000 160,000 60,000 120,000,  QIs} oI5t
DREADE == MEtH e Ol$Al @552 61-14(38SE) | =S 90,000 120,000 60,000 90,000/ QI8 oI
g =T == MElHE oAl LELE 61-6(3HE) +85 50,000 60,000 40,000 60,000 QIs} HESAUS
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o|H2t2 & 2E | MEHE oAl ASUSE2Z 13(%H5) BES 80,000 80,000 80,000 80,000 HE S
o2 2 | HEtEE oA ASHSE2Z 15(35) BES 45,000 50,000 45,000 50,000 HEGUS | HSUS
EL DIA 2| HEtEE oA ASHSR2ZE 19(35) BES 90,000{ 140,000 90,000[ 140,000 HERZ | HSYUS
I ESSEA 2E | HEEE oAl ASUSH1Z 8(2HS) s 80,000 80,000 80,000 80,000 HEEs | HEUS
] DY | MEEE oAl SUSLR 13-1522HH) [ SF 80,000 100,000 80,000] 100,000, Hs8s | HEYUS
2 ZE | HEtHE oA ASUSE1E 6-4(2HS8) s 30,000 40,000 30,000 40,000, HSgls | HSBS
B&P= 2E MR E oAl MAR15-4(8HE) s 50,000 70,000 50,000 70,000 HEglE | HIES
SE A ZteAH|O| DE  |MEPEE O$A| S22 30(3HE) s 120,000  120,000( 120,000 120,000 H&gls | HSeUS
ZefA 2 2 |HetdkE oA ASUSHATE 26(243) s 50,000 50,000 50,000 50000| #EGls | HELUS RHEE

o o (HM2tHE oAl 8522 15(85) sts 50,000 50,000 60,000 60,000 2l oly
= 2E |MEHE oA SHEM1Z 16-6(3HS) o E 70,000 70,000 70,000 70,000 BEglE | SRS
HeRd 28 |HEtgk A=A ASUSHZ 14-1(8s) | oS 25,000 25,000 25,000 25000 HERlE | HSYUS
Ef S 2 & o (MY o5A| SHE2 23(8HE) o5 60,000 70,000 60,000 70,000 HEElE | HEEUS
THE B= & s (MEtYE oAl MAR 41(EHE) s 110,000 110,000 110,000 110,000 HESGUS | HSAS
689 2 2E | H2tHE oAl U432 21-10=HES) | =TS 50,000 60,000 50,000 60,000) H3BlE | HEBS
Ltz 2| M2tEE oAl HA3Z 21-6(3HE ) oS 50,000 60,000 50,000 60,000 HEoUS | HEAUS
=AM e 23 | HEtEk oAl SU3Z 21-3(=tES) BIPSES 60,000 80,000 60,000 80,000 HEEE | HEUS
2| 5F2 2 2 | HEtER oAl dU3Z 24-7(21E ) IESES 35,000 35,000 35,000 35000 HEglE | HEUS
Sy 28 | HetEE oAl 432 24218 8) LIESeS 50,000 60,000 50,000 60,000) HERE | HSYUS
orz2|gd 23 | HEtgk oAl SU3Z 21-4(=tE ) oY s 50,000 60,000 50,000 60,000 HEElE | HEEUS
Mol 28 | HEtEk oAl dU3Z 24-8(21E ) BIESeS 50,000 60,000 50,000 60,000 HEBE | HEUS
=72 28 | HEtER oAl dU3Z 21-5(=1E ) IESES 50,000 60,000 50,000 60,000 HEBE | HEUS
oA 2 | MEtERE oAl FH6Z 43-4(HHS) HeS 50,000 70,000 50,000 70,000 HMES | HESAUS
Ftetz2 2 23 | HEtgk oAl FU6Z 42-4(HHS) HEs 40,000 50,000 40,000 50,000, SRS | HESRE
Me2d 28 | HEtEk oAl FU6Z 42-3(MHS) HEs 50,000 50,000 50,000 50,000, HEQUE | HESRE
ECIEE 28 | HEtEkE oAl HZ 8-4(2HE5) IESeS 40,000 50,000 40,000 50,000, HEQE | HSBE
HLAF ol 2E | H2tHE oAl G322 2117 ES) | 2AES 50,000 60,000 50,000 60,000) H3BlE | HSBS
ALEQSH 28| HatHE oAl G432 21-11(=ESE) | =AESs 110,000]  110,000f  110,000f 110,000 HMESUZ | HFAS
OlpkF N2 & 2E | HAtHE oAl G432 21-15=ESE) | =TS 60,000 80,000 60,000 80,000| H3BlE | HEBS
SeEatapy 2E | MEIHE oAl 245 190-6(E45) TS 60,000 80,000 60,000 80,000 HEgE | HEUS
Ofef| AL =H | MEtEE oA 252106, 65,75(EFE) | 256 50,000 60,000 50,000 60,000 HEQls | HESBS
EZAERE 28 | HatEE oA OfM1R 95-9(0M5) OlM S 50,000 60,000 50,000 60,000) H3BlE | HSBS
R&BH| =LA H =@ | HEtEk O 22 58(2T3) =TS 75,000 95,000 75,000 95000| HEQls | HEBS
ZEdel=2 ZE | MEtEE oA 212 39-14(0MS) Sk 60,000 70,000 60,000 70,000 BHERlE | BHSERE
Sto| R ol 2 | HEtEE O 2222 84(=5S) =TS 50,000 60,000 50,000 60,000 HESQls | HESBUS
S 2E | HetEE oA E12 43-17(0H M S) CRNES 50,000 60,000 50,000 60,000 HEQs | HESBUS
MIZE BE | H2HE A O E2ERE 76-1(2FS) | =TS 60,000 80,000 60,000 80,000| H=QS | HSBS
17t & ZE | HEtEE oAl E12 43-21(0 M S) ERES 50,000 80,000 50,000 80,000| H=QlE | HSBS
2|2 2 | HEtEE oA E12 43-13(0 M S) =TS 50,000 60,000 50,000 60,000 HEQls | HSBS
AREoH 24 HEE3HE 69(HME) oME 50,000 60,000 50,000 60,000 HEQlS | SRS
Gz L= Ol 212 43-7(0M &) olMS 50,000 60,000 50,000 60,000 HSBS | HSUS
KIZ™ ZE  |HeHE oAl 02 2=l Z 33(25S) =TS 80,000 80,000 80,000 80,000| HEQls | HSBS
252 ¢ 2 |HEHE oAl OE2E=R2Z 65(258) =TS 50,000 60,000 50,000 60,000 HEQls | HEBS
nFoan ZE |Matd s oA OfA12 95-8(01 A 5) CRES 50,000 60,000 50,000 60,000 HEQS | HEUS
AtepE ZE | HEIHE oA SHHTZE 11-10EMS) | SMUE 50,000 80,000 50,000 80,000 H=Qls | HSBS
SHEL 2™ ZE | HEIHE oA SMETE 1M1-1EUS) | SYS 35,000 40,000 35,000 40,000, Hsgls | HEES
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97 AHOH XL ADH SE  |MEtHE oAl S4HE8E 17-15(848) | s4s 72,000 110,000 72,000 110,000 Hs =
98 Woj| =2 & 2 Metg = oA S4HE7Z2 11-15(84H8) S 30,000 35,000 30,000 35000 =82 | HEUS
99 HFZE 2 Metg e oA S4HE7Z 11-24(844H8) SMS 35,000 40,000 35,000 40,000 HEgls | B82S
100 [od 2 (FEtHE oAl SLtHEZ 7(E4S) sis 50,000 60,000 50,000 60,000 HE8S | HESUS
101 o7& oY Hetd e oAl SUEHT7Z 8(348) atts 40,000 50,000 40,000 50,000 H=gl2 | B82S
102 NeADHE 24 Hetd e oAl SAU4EHT7Z 13(84S) Stts 50,000 60,000 50,000 60,000 H=8S | HEUS
103 LN 24 Metde oAl 84HEH8Z 11-16(84H8) Sits 30,000 35,000 30,000 35000 HEgls | HEtls
104 HAE OfF 28 |HEtHE oA SLHEZE 13(34S) N 120,000 150,000 120,000 150,000 HEglg | HE8lE
105 H L A2 E 2E |MEtHE oA S4td6ZE 17-7(84tHS) NS 35,000 40,000 35,000 40,000 HEglZ | HS8S
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112 O FINNAAESIRA | A2ESIRA|MELHE OlF=A| S2HH2Z 16-1(32ts) Sots 30,000 50,000 30,000 50,000 H=gl2 | HESUS
113 W2 28 |HeEtdE oA S2HEH2ZE 8-1(5 %) S5 30,000 40,000 30,000 50,000, BE8lS ol
114 CHEHASESIR A 24 [HMElHE oAl 3324 15-1(828) 3% 35,000 50,000 35,000 50,000 H=8lg | HE8S
115 gz g 2 |HEtHE oA 38522 15(3%3) S 35,000 50,000 40,000 70,000 Q4 olet
116 eod e (MEtEE oAl 38522 25-1(38E) | 385 30,000 50,000 30,000 50,000, BEQS | HEES
17 ZEARE 2E |HEEE A SER 87-1(328) S5 35,000 50,000 35,000 50,000 HERS | HSHUS
118 =225 HM  (MEtHE oAl S0E AUFZE 9 Stt= 110,000 180,000 110,000 160,000 HEAUS oI5
119 SHECEHHIM HN  (HEtHE oAl E4t5 ZEHBHeE 85 =it 50,000 80,000 60,000 70,000 QI 215}
120 SHX| Sz AHHM HN  ([HEtHE oAl SitE TIFSCHE 76 =S 110,000 180,000 95,000 155,000,  2I3} oI5
121 CEHETHE S |HEtHE oA S4E 4E5letz 93 =S 50,000 120,000 50,000 120,000 HEglEg | HE8lE
122 etoct= | sE (HMEHE o$Al EMS BHE 1 =ME 110,000 270,000  110,000f 310,000/ HESEUS ol
123 Yoz ™ HM  (HEtHE oAl 245 TFtZE 9 =ME 109,000[ 159,000 89,000 139,000 2I5 oI5
124 AFeod HM |MEtHE oA S4tE 4EH42 53 =i 60,000 60,000 50,000 50,000, QI8 2l
125 HEMHEMN HH Hetd e oAl AR 2(F%S) 5t 260,000 320,000 278,000 420,000  Ql4 olat
126 K| EEH A HAH Hetd e oAl OF=AE2 1(52s) ECIES 144,000 220,000 380,000 380,000 24 ol
127 o= &2h153 HM MEtEE oAl O|=ABHE 20235(525) | B35 340,000 520,000 490,000 490,000  QI4 oI5
128 Ctojotz & 2 |HEtHE oAl REsH1Z 6-3(13) mE= 50,000 80,000 50,000 80,000 ¥=gla | s
129 A7H0| 2 2 Hetd e oAl WSEH1Z 5-518) mE= 80,000 90,000 90,000 90,000  QI4f HES oS
130 L} 7} 2 T M HME  (HEtHE oA SHAZ 66(5%ts) ECIE= 169,000 239,000 259,000 269,000 ©l4 olet
131 ofzEgg == Mt e ojAl EEHZ 6-1(1S) nE 60,000 70,000 60,000 70,000, HEQUS | HEUS
132 2| 28 | Hetdlk oA AsEH1ZE 6-12(Us) s 100,000]  100,000f  100,000f 100,000 HESUZ | HFAS
133 SETHEL SE | HEtEE oAl O|=ATHE 135(3%E) | BIE 99,000{ 165000  220,000( 220,000 24 ey
134 LAAESIRA Axgstes | MEtHE OlFA| S22 2-2(8Y5) TYS 25,000 25,000 25,000 25000 HEBlE | HEUS
135 S OHAHCHE A HM  |HetHE oAl OB E 159 (BYSE) | TYS 290,000 290,000 200,000 260,000,  Qlst 215}
136 QO|Ct HAE BF2A |HAAESISA|MEILUE O|$A| S22 18(1AE) AR 25,000 25,000 25,000 25,000 Hs8ls | Hsdla
137 SMzHE 2 |MEtHE oA SYE 72-21(BYS) SUS 70,000 70,000 70,000 70,000 HE2US | HE8US
138 Of <=0l 4 HM et R oAl 52 = 60 (52 5ot 220,000 220,000 120,000 220,000  Qlst HES S
139 odst7| 224 Haestes | MEtdE oAl UESH1ZE 5-44L3) me= 110,000 110,000 110,000 110,000| &S | HEUS
140 ENDE 28 |MEtH kR oAl D|E9Z 10(0|ES) OjEs 50,000 60,000 50,000 60,000 H=8lE | HESUS
141 T2 2E |MEHE oA B4 53(LES) REUE 60,000 80,000 60,000 80,000 H=8l2 | HEUS
142 =Ho| 2 & DY (NMEtHE oAl 244 558 S) RUSE 60,000 80,000 60,000 80,000 HESls | HEUS
143 Ot 2% (Mt oA 2842 5428 3) REUS 50,000 60,000 50,000 60,000 HEQE | HEYUS
144 AELZE 238 | MEt"R oAl RE4Z 59(RES) RYS 70,000 90,000 70,000 90,000 HEElE | HEUS
145 olste AR 28 | HEt"E oAl RLE4Z 61(2ES) 2YE 70,000 80,000 70,000 80,000 HEgE | HEUS
146 OtE| 2 & == MEtHE oAl Q222 12-6(22UE) (ST 60,000 80,000 40,000 50,000 5
147 gxoa == MEtd e oAl QEI2Z 12-4225) Qs 70,000 90,000 40,000 50,000, ¢! oIS
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148 o+=Fog 2E |MEtHE oAl 2E22 12(QES) REYE 50,000 60,000 40,000 50,000  Qlst 215t

149 sta o E 2E |MEtHE oAl 2E4Z 48(E ) REs 50,000 80,000 40,000 50,000(  Qlst 215}

150 EQADHE =)= Metde oAl 2932 121249 3) zHS 50,000 70,000 40,000 50,000  Qlst oI35}

151 cng 2H Metede of=Al EE53Z2 141(EES) zHS 40,000 50,000 40,000 50,000 HEgls | HESUS

152 Bl X el R Hetde oAl 2932 6-1(253) =55 50,000 60,000 40,000 50,000 Qlst oI5t

153 AQEDHE [=1=] Metd e oAl 2932 6-21(253) zHS 40,000 40,000 30,000 30,000, Qls} 215}

154 CCK o Hetde oAl QE2Z 9 QEUS 30,000 40,000 30,000 40,000| HEQs | HE8lS




